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Science Grade 5 (blog worksheet 2)

Q1. Answer these questions.

a. Seeds only need water and warmth to germinate. What other things do you think
healthy plants need? mulsients 2 ll‘ﬂ ht and »0il .
; 9 Plower befone b opems.
b. What do you think sepals do? paelz ks The o
¢. Why do plants need insects to visit their flowers? Fow poll rnodeer
Q2. Tick the boxes on the picture to show what each part is, called.

FTovary [ ]stigma L1 stigma [ ]brush
[[] ovum (egy JTstyle [ ]stoma [ ]sepal
[ ]sepal [ ] fitament [ ] stolon Zanther

\ >
A ovum (egg) \ [ ] pollinator
[ ] eovareo Pl A filament
D style [::] style
[ ] anther [ ] petal
[ ] tlapel s {Tsepal
" petal [Jloaf

a. Mark a ‘P’ on the picture to show where you think pollen is made.

b. Name two ways in which pollen can be carried from flower to flower.
i Wi Y\d
i Insechs

c Complete the following sentences using words from the box. = .
When pollen is moved from one flower to another it is called_f,o_l!lp'a—hon
Part of the pollen joins with the ovum. This is called g exlilisallon

After this a a;'__.;,m:an form.
seed

{fertilisation ovary ovum pollination seed stigmn

Pollination and fertilisation q

Plants that are pollinated by insects need to attract insects to their flowers. To do this they often have brightly
coloured petals, have a smell and produce nectar for the insects to cat.

Some scientists were trying to find out if insects were more attracted to petals or to nectar. Their prediction was
that the amount of nectar in a flower was more important than the flower having petals. They removed the
nectar from all the flowers and added fake nectar to some. They removed the petals of some flowers. The bar
chart shows their results.



on each flower

Number of insects landing

No petals, With p 3 ' : No petals,
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Flower treatment of ls o+ o QC/t o>
. : als o
Q3. (=2 @— What do the results show? Ib There W! ” bI?nSZS{’S PonJd mot v l fgf e

b Did the results maich the scientists” prediction? No .
c Why do insects want nectar? Food .
d The scientists needed to do a fair test. What factors should they have kept the same?
e Name another factor they could have investigated.
Q4. Look at the picture.

What are the missing words A to E? Choose from this list.

filament

sepal

anther ovary ovum  petal stigma
B A E

D
Q5. What does each of these parts do?
a the anther ~ -b———thesepal- ¢ the stigma Te
mnakes pollen peller lands - ’j"{"‘t}m >
Q6. a < — What process does the whole picture show? C Peler 2 ®H P°
AN " Cyoss pollinalion ,
b This happens in a different way in some plants like §ra}ss. How does it happen in grass?
S'e,l.b lrnalier
c Do you think grass flowers smell nice? Explain why or why not. ) —
- s hey olonol qreod fa///ndv
Q7. Seeds are formed after fertilisation. What happens during fertilisation? pollcyn g s alube
thyaugh style T ary oveem The pollern goesTo dhat svem and jone wille "o
Qs. Why do plants need msects to visit their flowers? 0 g eUihse .
Eos bollinals
Q9. The diagram shows a pollen grain on the top of the female organ of a flower.
a What is the female organ called? ax Fd

b Make a copy of the drawing and label its parts. Cé@ Q2. por W a_)

¢ Complete the drawing to show what happens before fertilisation occurs.
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Q1 Orange trees have flowers which are visited by insects. The flowers will eventually form fruits.
Here is an orange tree fruit.

a Which letter shows the part that grows into a new plant? F
b Which letter shows the fruit? 8

Q11.

dandelesw sood dispersal oy pollinduon (3] exminaliev
Seod

pollination ~ germination seed dispersal a dandelion seed

b (— Write numbers in the boxes t0 show the order that these things happen. The first one has been
done for you.

Q12. <— Fill in this table to compare orange trees and dandelion plants.
Orange |Dandelion

Pollination by ...

2
mse| wind
Crs
Seed dispersal by ... bi"b’M

P

wind




